E=hR)

iz
I

BUETSE — ERMATLABRZ TN

MATLAB &4
o w7 1-11 EXEIS

(BN MATLAB £ %34 1-12 RYANIWAGCES ~PRES = Fl

WM MATLAB e 2 #i8 5 KN MATLAB % §

1-3 ELSSE ER EF 313 1-14 BRiER

1-4 1-15 PR

5 116 N

1-6 E3EESh SEEaAL 4 BV VMATLAB ¥ thit * & f ivsik

BT % MATLAB 4 £ 4

— N
(Exit(y!)

> BETSE — ERMTLABIER S (BSHR) ﬂ

11 MATLAB % %84

*MATLAB » # % # % g " matrix laboratory |
(BLF®HE) -

“MATLAB fedg ARG P 7 0ie * 8- 454
REPN N B4 4 2 5y
(scripts) -3¢ o

I
B

N |4

@G =0 B D




- B - BRWLBEAES (B H

"MAHABﬁPb%?jTﬂ§4

1. {E’Ki";’f#fg % & B

2. * B %@ G ornenp o SR > P o v F
beF B Y o

3. BI7F vkenz MR R BRA o

4.ﬁﬁﬁwpx T EXHEE R
o H 3 ﬁ*”w% ¥pe R
)1"’1%_7\'%7 o

5., Sn#ck &= 51 B4 ¥4 » MATLAB 1t
o o

DG =0 DD

- B - BRWLBEAES (B H

3 - 2 Z R I-MATLAB #f i :
* APL 3 * t* % AProgramming L anguage
* NAg #2.;% & (The NAg Library)
* Mathematica f=Maple
R |

QA= B D



- BEP % — RN BE (B _'”

@B ¥ MATLAB ik & > 4B L E 11 3 =
N

,—,.. F] ] féﬂ‘\iaii-?‘ '”t’—?'g' L’J’J‘E'é\,
o
LB gecommand (454 ) AR %
>> A =1[1365;101;50 9]

SAB() R A F- FhBRE Y T - 7ol
%A Treturn 4218 o B AT T Ao

A=
3 5
0 1
0 9

5
G =0 B D

» mEsE - ERWLGENES B

MATLAB e Edltor (iE®) %ﬁbm ﬂfm: Fratt
[AEPRTR RN B

ﬁ%])‘ff' f#pl\ﬁ’TuingPr’f

oWy H- S0 H - FaeE il » £ (vector) o
% XT o
% 40 8E CE @:%%_)\ C=A*B -

o
gl

SO DD



» mEsE - ERANLSEREE B=
152

“MATLAB ¢ - B3 5 * chdific i whos » iz
LA Ey a1 FRE Y R

>> whos
Name Size Bytes Class
A 3x3 72 double array
B 3x3 72 double array
C 3x3 72 double array
Grand total is 27 elements using 216 bytes

DG =0 DD

» mEsE - ERANLSEREE B=

152

>> clear A
>B=1[1;
>> C = zeros(4,4);

>> whos
Name Size Bytes Class
B 0x0 0 double array
C 4x4 128 double array

Grand total is 16 elements using 128 bytes

@G =0 B D




%
o

> BETSE — EFANMATLABEETNGES (58

>> A = zeros(4,8);
>> B = ones(7,3);
>> [p q] = size(4)

non

>> length(A)

ans =
8

>> L = length(B)

L =

7
[ $8/145F

A Q= B D

PEEs—— . ,

FE R F U size &2 length & #kc e

> BETSE — EFANMATLABEETNGES (58

13 A2 _;B,;}ﬁgf’r

SEET U BE S AR KFE
>> X(1,3) = C(4,5)+V(9,1)
>> A(1) = B(L+D(1)
>> C(i,j+1) = D(3,j+1)+E(i,]7)
SOl d LR ik o F Al R - B .
>> A =[23456;-4-5-6-7-8,35791; ...
468 10 12;-2 -3 -4 -5 -B]
A =
2 3 4 5 6
-4 -5 -6 -7 -8
3 5 7 9 1
4 6 8 10 12
-2 -3 -4 -5 )
TI=0D D




» mEsE - ERWLGENES B

S APIEE.. P k4 FTMATLAB g ¥~
70 7T A st

> v = [1 3 5];
>> b = A(v,2)
‘b=

3

5

-3

Q=0 DD

» mEsE - ERWLGENES B

[ 1-3 |
S
>> C = A(v,:)
o ’fﬂ_jflj
C =
2 3 4 5
3 5 7 9 1
-2 -3 -4 -5 -6

@G =0 DD




o ;*IJL =

>> D = zeros(3);
>> D(:,1) = A(v,2)

AN

% 3

]
o
o

& $12/145F

Qe #’!L f—?

>> E = A(1:2,4:5)

» mEsE - ERANLSEREE B=

QG D B B

# 3
E =
5 6
-7 -8
1 = C;

C1(1:4:15) = 10

Cl =
10 3 4 5 10
3 10 7 9 1
-2 -3 10 -5 -6

» mEsE - ERANLSEREE B=

<4 ==d B




» mEsE - ERANLSEREE B=

>> size(A)
ans =

5 5
>> A(4,5)
ans =

12

>> A(end-1,end)

ans =
12

DG =0 DD

» mEsE - ERANLSEREE B=

< reshape Sn#cw * kAJE - B R AR > Sk
reshape v #— & drspd fEA5 & — 45 24 /| o0
AL o

0:0 l’}]l-&\j' ’ J,;}"é‘,séf_vl‘i P o

@G =0 DD




» mEsE - ERANLSEREE B=

>> P = C(:,1:4)

P =
2 3 4 5
3 5 7 9
-2 -3 -4 -5

ans =
2 4
3 7
-2 -4
3 5
5 9
-3 -5

DG =0 DD

» mEsE - ERANLSEREE B=

>> s = reshape(P,1,12);
>> s5(1:10)
ans =
2 3 -2 3 5 -3 4 7 -4 5

@G =0 DD




> BB - EEMLBERES (B
14 &2 &%
SHE ARG - B EEE o o N
MATLABp 12 38" K 4 7 o
> A =1[123;45 6;7 8 9]
A=
1 2 3
4 5 6
7 8 9
>> B = A'
B =
1 4 7
5 8
3 6 9
QUG @O DD

- BEP % — RN BE (B

DT N g 8
MATLAB i& & '3' ‘{:\'513’—@3?@ i

> = 4 + o+ +

sy
o
o
o
o
+

2.00001 3.0000 + 5.00001
4.0000 + 2.0000i 3.0000 + 4.00001

1.0000 - 2.00001i 4.0000 - 2.00001i
3.0000 - 5.00001  3.0000 - 4.0000i

QD TO B D




T ———
SEBEE DAL RRFA
> C = A
C =
1.0000 + 2.00001 4.,0000 + 2.00001
3.0000 + 5.00001 3.0000 + 4.00001i
SO BB

1.5 HFrREd

N

zeros(m,n)
randi(p,m,n) -

& 521/145F

S ed L ¥
rand(m,n)

s Shfceye(m,n) 24 m>

» mEsE - ERANLSEREE B=

N

VIR e - ones(m,n)
randn(m,n) -

N

fen (7 el

Q4O B




>> A = eye(3,4), B = eye(4,3)
A=

1 0 0

1 0 0

0 1 0
B =

1 0 0

0 1 0

0 0 1

0 0 0

& 522/145F

» mEsE - ERANLSEREE B=

A Q= B D

“linspace » ¥ 1% X F 4w £ >
Az B~ HELE L w §

>> w = linspace(-2,2,5)

-2 -1 0 1 2

» mEsE - ERANLSEREE B=

16 A2 7454 ned

A
v
=]

]

linspace 0.2598,0.3024,5

0.2598 0.2704 0.2811

0.2918 0.3024

& 523/145F

Q4O B

12



» mEsE - ERANLSEREE B=

>> w = logspace 1,2,5

W =

10.0000 17.7828 31.6228 56.2341 100.0000

2

pi 78 > e § L x 2107 -

“logspace ¢ * F L IFAE 0 FH B SAAL

>> w = logspace(l,pi,5)
W =
10.0000 T7.4866 5.6050 4.1963 3.1416
>> C = [2.3 4.9; 0.9 3.1];
>> D = [C ones(size(C)); eye(size(C)) zeros(size(C))]

& 5 24/145F

A C =xd DD

» mEsE - ERANLSEREE B=

2.3000 4.9000 1.0000
0.9000 3.1000 1.0000
1.0000 0 0

0 1.0000 0

1.0000

1.0000
o 16
0

it

>> E = repmat(C,2,3)

* MATLAB & % repmat & B 1 % =< #icif T 6 2

E =
2.3000 4.9000 2.3000 4.9000
0.9000 3.1000 0.9000 3.1000
2.3000 4.9000 2.3000 4.9000
0.9000 3.1000 0.9000 3.1000

2.3000 4.9000
0.9000 3.1000
2.3000 4.9000
0.9000 3.1000

& 525/145F

Q4G =O B D

13



s st - EANLEEAES @SR
* MATLAB & #ic diag “3¥ i ¢ ~ 2 enfF 2w &
kA4 ¥ ErL [ 16|
>> H = diag([2 3 4])
&2
H =
2 0 0
0 3 0
0 0 4
QAG =0 DD

» mEsE - ERWLGENES B

< S fodiag % - B F E
>> P = rand(3,4)

0.3825 0.9379 0.2935 0.8548
0.4658 0.8146 0.2502 0.3160
0.1030 0.0296 0.5830 0.6325

>> diag(P)
ans =
0.3825
0.8146
0.5830
RGO DD

14



> BETSE — EFANMATLABEETNGES (58

e

% * MATLAB & #kblkdiagx 248 Al &2 A2 4r
- -
>> Al = [125;346;345];
>> A2 = [1.2 3.5,8;0.6 0.9,56];
>> blkdiag(A1l,A2,78)
ans =
1.0000 2.0000 5.0000 0 0 0 0
3.0000 4.0000 6.0000 0 0 0 0
3.0000 4.0000 5.0000 0 0 0 0
0 0 0 1.2000 3.5000 8.0000 0
0 0 0 0.6000 0.9000 56.0000 0
0 0 0 ] 0 0 T78.0000
QG =0 DD

1.7

‘ ¥29/145F

o aﬁ%

— B Sk

e EFREFE05 &% sgrtm(A) fiF o

=1 A& * inv(A) °

< expm(A) -+ 3+ FELA gk -

% MATLAB = #& logm(A) # &
e & HHc o

> BETSE — EFANMATLABEETNGES (58

e

-

i 0Le 5 ki A

Q4O B




» mEsE - ERWLGENES B

o Bilde
>> A = [61 45;60 76]

61 45

60 76

>> B = sqrtm(A)

B =
7.0000 3.0000
4.0000 8.0000

>> B2

ans =
61.0000 45.0000
60.0000  76.0000

DG =0 DD

s BEs - EEWLERES BRI
1.8 MMATLAB:EE 3\ itsErL ﬁi;é
{}«%’E%;ﬂikig% ﬂﬁi;ﬂ

Ax=b (1.1)
< &MATLAB A ¥ 134 77 7145 £ % £42 X
= A\b
% OMATLAB eig 2 5 3\ 7 % ok fRanph oz
754 (1.1) »

@G =0 DD




o

UeA

A F o

0:0 /L’?ll‘:j' Y F

>> A = [1 2;3 4]

1 2
4

& 532/145F

19 ~%iE- &8
SAEE-EE D EE SRR -

WXAY E B Xah~dd Y& XPpHED~Z XK

» mEsE - ERANLSEREE B=

PER() ki

A Q= B D

>> B = [b 6;7 8]
B =

5 6

7 8

R T LA

>> AxB

ans =
19 22
43 50

& 533/145F

» mEsE - ERANLSEREE B=

Q4O B




0:0()@_;3; 7 H

>> A.*B
ans =
5 12
21 32
>> A."B
ans =
1 64
2187 65536

& 534/145F

» mEsE - ERANLSEREE B=

QG D B B

SARE-EERY - BERFEY LFH o blde

> x = -1:0.1:1;
>> y = x.*cos(x);
>> y1 = x.73.%(x.72+3*x+sin(x));

& 5351457

» mEsE - ERANLSEREE B=

<4 ==d B




» i - EENTAEAEE Gon
110 #EFE & >k
% g

1-10

Vv
v

»
I

[1 2;3 4]

DG =0 DD

» mEsE - ERWLGENES B

x:
1 2
3 4
>> y = x."243%x-7
- 1-10
y_
-3 3
11 21

>> y = XT2+3%x-T7

17 27

@G =0 DD




> BETSE — EAMATLABIEINEES

<+ MATLAB p Li"ﬁ B s o i o

’:’ o3 ﬁ:t 28 l'}ll s

PR §

>> x = [-4 3];
>> abs(x)

>> x = 3+4i;
>> abs(x)

1-10

‘ ¥38/145F

A Q= B D

B - ERUTLEERES ESR
%11 MATLAB #c# & #ic
B B B 4t i 51
sqrt (x) square root of x y = sqrt(x+2.5);
abs(x) if x is real, gives positive value of x
If x is complex, gives scalar measure of x d = abs(x)*y;
real(x) real part of x when x is complex d = real(x)*y;
imag(x) imaginary part of x when x is complex d = imag(x)*y;
conj(x) complex conjugate of x x = conj(y); 110
sin(x) sine of x in radians t = x+sin(x);
asin(x) inverse sine of x returned in radians t = x+sin(x);
sind(x) sine of x in degrees t = x+sind(x);
log(x) log to base e of x z = log(1+x);
log10(x) log to base 10 of x z = logl0(1-2%x);
cosh(x) hyperbolic cosine of x u = cosh(pi*x);
exp(x) exponential of x, i.e., e* p = .Txexp(x);
gamma (x) gamma function of x f = gamma(y);
bessel(n,x) nth-order Bessel function of x f = bessel(2,y);

‘ ¥39/145F

Q4O B

20



ans =
5
>> imag(x)
ans =
4

>> y = sin(pi/4)

y =
0.7071

>> x = linspace(0,pi,5)

& 5 40/145F

» mEsE - ERANLSEREE B=

1-10

QA QD DD

 pEsE ERNLSEREE B=h

X =

0 0.7854 1.5708 2,3662
>> sin(x)
ans =
0 0.7071 1.0000 0.7071
>> x = [0 pi/2;pi 3*pi/2]
x =
0 1.5708
3.1416 4.7124

>> y = 8in(x)

y‘
0 1.0000
0.0000 -1.0000

& 5 41/145F

3.1416
0.0000
1-10
Q4D B ED




» mEsE - ERWLGENES B

- SRR R R - B F R -

AL S el I ¥ F & - B
a,;jaﬁ _ﬂ ;csE: % f@;@?] 41 o f}l]%ir- » bessel(n, x) %
X % npE b osraodik s ity = fzero(fun, xO)
;i—i; & #ie fun #::7 X0 m%“ » Ho funi_Bd 7

.Fl]z *’i m@,ﬁi 'gz\. ,ra;ﬁ a1 %g_—\ mf‘l o

DG =0 DD

e
Q:QT}'Iij’Fl E%{%?—‘J‘FE?QQ'{’? j\l'—u‘?ﬁ.
1000 x 1000 |+ 88 = > & fe ey (FPFR o

% e3s107.m Solves a 1000x1000 linear equation system

A = rand(1000); b = rand(1000,1);

T_before = clock;

tic

t0 = cputime; 1-10
= A\Db;

timetaken = etime(clock,T_before);

tend = toc;

tl = cputime-t0;

disp('etime tic-toc  cputime')

fprintf('%56.2f %10.2f %10.2f\n\n', timetaken,tend,tl);

etime tic-toc cputime
0.30 0.31 0.30

@G =0 B D




» Bl - EREWLSEREE EoR
1.11 F 8 %
3P T B HMATLAB 3 8 afic k AU o

A5 2

o ‘?a I}IJ :

>> g1 = 'Matlab ', 82 = 'is ', 83 = 'useful'

sl = 1-11
Matlab

s2
is

s3 =
useful

DG =0 DD

» mEsE - ERANLSEREE B=

WARAPT LR FEFER o AT F 3 LI

>> sc = [s1 s2 s3]

sc =
Matlab is useful

=il
>> sc(2)

ans =

a

>> sc(3:10)

ans =
tlab is

@G =0 B D




» mEsE - ERWLGENES B

TR SRS FIERRVES B

>> sc(1:3)!
ans =
M
a 1-11
t
STV UEFTEOFTELEREREK ré»_fﬁ»;}% T3 Y- B
FEB AT

>>a = sc(6:-1:1)

a =

baltaM

DG =0 DD

» mEsE - ERWLGENES B

BLF AW AT E R NF R SCT LT T

>> sd = 'Numerical method'
>> s = [sc; sd]

5 = 111
Matlab is useful

Numerical method
% Fostrrep #-F B B FFH 0 4o

>> strrep(sc, 'useful', 'super')

ans =
Matlab is super

@G =0 B D




» mEsE - ERWLGENES B

ot findstr kB N AE - BFE ¢ HFronFg AN
IF¢P

>> findstr(sd,'e')

ans =

4 12
>> findstr(sd, 'meth') 1-11
ans =

11

>> findstr(sd,'E')

]

DG =0 DD

» mEsE - ERWLGENES B

F ¢ 7 0 fl* Sde double ¥ LT T i HcH
EH o g Ap ?%)@mASCII/E%

>> p = double(sd(1:9))

Lol
]

1-11
78 117 109 101 114 105 99 97 108

>> q = 1*sd(1:9)

q=
78 117 109 101 114 105 99 97 108

@G =0 B D




» mEsE - ERANLSEREE B=

% i * MATLAB = char & #+ 12 #%-ASCIl 7 th
o X

DX gdﬁfvj

>> char(q)
1-11

ans =

Numerical

>> char(qg+3)

ans =
Qxphulfdo

DG =0 DD

» mEsE - ERANLSEREE B=

>> char((q+3)/2)

ans =

(<84:6327
1-11
>> double(ans)

ans =

40 60 56 52 58 54 51 50 556

@G =0 DD




» mEsE - ERANLSEREE B=

SFr 123 Y LR T HHEEI23 Ak 0 F

L
¢

>> a = 123

a = 1-11
123

>> sl = '123"'

sl =
123

DG =0 DD

» mEsE - ERANLSEREE B=

s*whos ¥ 2 &7t 11 ¥ #ica fo Sl g W4T

>> whos
Name Size Bytes Class
a 1x1 8 double array
sl 1x3 6 char array
1-11
Grand total is 4 elements using 14 bytes

¥ G festr2num & str2double i3 3 B 3 4p
HREE > 4o

>> x=str2num('123.56')

X =
123.5600

@G =0 DD




» mEsE - ERANLSEREE B=

>> x = str2num('1+2j')

X:
1.0 + 2.00001

>> x = str2num('1+2 j')

1-11
X:
3.0000 0 + 1.00001
>> x = str2double('1+2 j')
x=
1.0 + 2.00001
Qa=0DD

» mEsE - ERANLSEREE B=

* bin2dec('111001") & bin2dec('111 001") w
@57

e dec2bin(57) v i#x ¢ '111001"

e int2str([3.96.2]) w @z 8 '46"

e num2str([3.96.2)) v i#x ¢ '3.96.2° 1-11

e str2num('3.9 6.2") = & 3.9000 6.2000

o strcathow ''why ''when) w @& zx ¢
"howwhywhen '

« strcmp(‘whitehouse','whitepaint’) w i#0 %] i
FE AR

VOO b




» mEsE - ERWLGENES B

» strncmp(‘'whitehouse’,'whitepaint',5)w & 1 7]
23RS BF IR
o date w I p H > 1 24-Aug-2011 pt $2 50

1-11

DG =0 DD

B EANLSERES FE
112 MATLAB 2§ » % $i5 !

y
disp Sk~ 32 BEkT Ay E D o

>> disp('This will display this test')
This will display this test

>> x = 2.678;
>> disp(['Value of iterate is ', num2str(x), ' at this stage'l])

1=12

Value of iterate is 2.678 at this stage

@G =0 DD




- BEP % — RN BE (B

s fprintf 2_{ £ &4 chdidic
fprintf('filename', 'format_string',list);
ST R A%

%P.Qe % X Herirté

%P.Qf 3K LT et 5

%P.Qg ¥ = %P.Qe & %P.Qf L #= —“'fsﬁ&t
C

« \n AT A

1=12

DG =0 DD

- BEP % — RN BE (B

>> x = 1007.461; y = 2.1278; k = 17;
>> fprintf('\n x = ¥8.2f y = %8.6f k = %2.0f \n',x,y,k)

‘x = 1007.46 y = 2.127800 k = 17

1-12
‘>> p = sprintf('\n x = %8.2f y = %8.6f k = %2.0f \n',x,y,k)

P:

x = 1007.46 y = 2.127800 k = 17

QD TO B D




» mEsE - ERANLSEREE B=

S35 B3 et gk R~ L r Sdikinput - A58 e

A

>> variable = input('Enter data: ');
Enter data: 67.3

S SEcinput (h¥ - BN E_LFEE P @?J » o 1-12

>> variable = input('Enter text: ','s');
Enter text: Male

< dfcload ¥ v d B N AR o R

‘1oad filename‘

>> load sunspot.dat

DG =0 DD

> BETSE — EEAMATLABIE NGRS (5=
> x = 1:5; y = sin(x); z = cos(x);
>> whos
Name Size Bytes Class
b'd 1x5 40 double array
y 1x5 40 double array
z 1x5 40 double array
>> save test001
>> clear all, whos Nothing listed
>> load test001 =
>> whos
Name Size Bytes Class
bd 1x5 40 double array
vy 1x5 40 double array
z 1x5 40 double array
>> x = 1:5; y = sin(x); z = cos(x);
bt d




» mEsE - ERANLSEREE B=

>> save test002 x y
>> clear all, whos Nothing listed
>> load test002 x y, whos

Name Size Bytes Class
X 1x5 40 double array
y 1xb 40 double array

1=12

>> clear all, whos Nothing listed
>> load test002 x, whos
Name Size Bytes Class
X 1x5 40 double array

DG =0 DD

» mEsE - ERANLSEREE B=

XV g et e

>> p = 1:6;
>> whos

Name Size Bytes Class

P 1x6 48 double array

1=12
>> csvwrite('test003',p)
>> clear
>> g = csvread('test003')
g =
1 2 3 4 5

@G =0 DD

32



- B ERNITLGEAEE B
113 MATLAB # &

o plot(x,y) &% & X ¥y TR 4ok X fry
Ta"‘a«rF“f‘—EJ.‘\% X mavl A4y E 1 7 em
RisxHx2 yER

« plot(x1, y1, 'typel’, x2, y2, 'type2') i * typel
A A BRSO XIE oyl ol R R

type2 = ,%L@J 01 x2 4 y2 (o) o T
QUG @O DD

s BERE - EANTLEEAES s
%12 FRHTRR* DR F A
i (SR L 5% BH {1 X

solid - point . yellow y

dashed - - plus + red r

dotted : star * green g

dashdot -. circle o blue b 1-13
X mark x black k

@G =0 B D

33



» mEsE - ERWLGENES B

title(title") g7 A5 5L EAEIT R A 2 o
» xlabel(’x_axis_name') . #h™ &7 51 H.p

33
o ylabel('y_axis name') % b= & T 3l B p
L

o grid AR E F Rk

o text(xy, text-at-x,y') EBIAARE ¢ ¥ (X,
y) BT FREM X E Yy nH = up
BRI E P 2 FV BT - B
RSB MRXfryEFE R E o

1-13

G =0 B D

» mEsE - ERWLGENES B

o gte xt(text) - o F EE Tz E B ik e
FooREERETHRRE-
o ginput LIFE BT HEE-F A o
“ginput 3 & fai & 3550
[x,y] = ginput 1-13
G| e
[x,y] = ginput(n)

VOO b

34



VIR S =l

10 ! ! !

y-axis

1-13

X-axis
B1.1 @ * plot(x,y) % hold 4xit {7 3| en@] A, £ A

QGO DD

VIR S =l

% sdchold £.% % BES BWAL & -

% e3s101.m

X -4:0.05:4;

y = exp(-0.5%x).*sin(5*x);
figure(1), plot(x,y)
xlabel('x-axis'), ylabel('y-axis')
hold on

y = exp(-0.5%x) .*cos(5*x) ;
plot(x,y), grid

gtext('Two tails...')

hold off

1-13
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< Zdc fplot jegFid * K AR IR UM
s "—‘i%}] E‘fszlrﬁ'i °

% e3s102.m

y = @(x) sin(x."3);
X 2:.04:4;
figure(l) 1-13
plot(x,y(x),'o-")
xlabel('x'), ylabel('y')
figure(2)

fplot(y, [2 4])
xlabel('x'), ylabel('y')

DG =0 DD

- BEP % — RN BE (B

A

e SN E

_\)

1 & figure(l) %2 figure(2) #-
E? °
ezplot L3F S HE BE = AR 0 b4

‘>> ezplot(@(t) (cos(3*t)), @(t) (sin(1.6%t)), [0 50])

1-13

QD TO B D
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—1 & R, & ° 4 &
2 2.5 3 3.5 4
X
W12 #*51l BEAIEngRE-LF N y=sin(OE) o
TA=0O DD

» mEsE - ERANLSEREE B=

W [

0.5F 1

1-13

LAV

2 2.5 3 3.5 4
X

BI1.3 i * fplot & #cif % & i hgE ek B Ny =sin(x®) o

QD TO B D




» mEsE - ERNLSEREE B=

>> x = -4:0.0011:4;

>> y =1./(((x+2.5).72) .*((x-3.5).72))+1./((x-1).72);
>> plot(x,y)

>> ylim([0,10])

x 100

4 N

= 1-13

0 | 1 1 \
—4 -2 0 2 4

X
Fll4 S@TFEF-4 14 2 B9 o] B B 54x108 o

DG =0 DD

» mEsE - ERANLSEREE B=

10 I I I

) 1-13

0 J 1 | k
—4 -2 0 2 4

X
FL5 2 W14 Ap b s destif 3 enfl o ey phenge B3 03] -
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» mEsE - ERANLSEREE B=

s dnfchold on +=F %=F %% @ hold off p|#-2 i

% e3s103.m

x = 0.1:.1:5;
subplot(2,3,1), plot(x,x)
subplot(2,3,2), plot(x,x."2)

subplot(2,3,3), plot(x,x.”3)

title('plot of x'), xlabel('x'), ylabel('y')

title('plot of x72'), xlabel('x'), ylabel('y')

& $76/145F

title('plot of x73'), xlabel('x'), ylabel('y') T
subplot(2,3,4), plot(x,cos(x))
title('plot of cos(x)'), xlabel('x'), ylabel('y")
subplot(2,3,5), plot(x,cos(2*x))
title('plot of cos(2x)'), xlabel('x'), ylabel('y')
subplot(2,3,6), plot(x,cos(3*x))
title('plot of cos(3x)'), xlabel('x'), ylabel('y')

Lo <R <for al > Q> 2

plot of x plot of x*
6 30
4r 20
= =
2t 10
0 0
0 5 5
X X

plot of cos(x) plot of cos(2x)

=

& $77/145F

1 1
0.5 0.5
0t = 0
-0.5 -0.5
-1y 5

1o 5

X X
Bl1.6 S #csubplot g #

» mEsE - ERANLSEREE B=

plot of x*
150

100

-

50

0

X

plot of cos(3x)

1-13
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 mEsE - ERNLGEREE B=

>> p=roots([1 0 0 0 0 11)

p=
-1.0000
-0.3090 + 0.9511i
-0.3090 - 0.9511i
0.8080 + 0.58781

0.8090 - 0.5878i
>> pm = abs(p.')

pm =
1.0000 1.0000 1.0000 1.0000 1.0000 1-13

>> pa = angle(p.')

pa =
3.1416 1.8850 -1.8850 0.6283 -0.6283

>> subplot(1,2,1), polar(pa,pm,'ock')
>> subplot(1,2,2), compass(real(p),imag(p),'k')

DG =0 DD

» mEsE - ERANLSEREE B=

150/
180

210\

270

B11.7 polar v compass % ! x°—1=0 5142 -
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» BUETSE — ERVATLABEEINEE S (B=HR)
114 = %% F

* MATLAB 3 ki * ‘%7 2 oA g | 2 MR
A5 o
o i S #icf_meshgrid ~ mesh ~ surf 1~ contour
fe contour3 -
g IO TE - 3
z = (—20x% +x)/2 + (—15)° + 5y)/2 x=-4:02:4 F IS
y=-4:02:4

DG =0 DD

» mEsE - ERANLSEREE B=

% e3s105.m

[x,y] = meshgrid(-4.0:0.2:4.0,-4.0:0.2:4.0);

z = 0.5%(-20%x. 2+x)+0.5% (-15xy. ~2+b*y) ;

figure(1)

surfl(x,y,z); axis([-4 4 -4 4 -400 0])
xlabel('x-axis'), ylabel('y-axis'), zlabel('z-axis')
figure(2)

contour3(x,y,z,15); axis([-4 4 -4 4 -400 0])

xlabel ('x-axis'), ylabel('y-axis'), zlabel('z-axis') | ERE
figure(3)

contourf (x,y,z,10)
xlabel('x~axis') label(' -axis')

QD TO B D




-200

Z-axis

0
y-axis

» mEsE - ERANLSEREE B=

W18 @& * FEEBELP & > B -

DG =0 DD

1-14

-4 4 -2 X-axis

» mEsE - ERANLSEREE B=

W19 = M Em g @ -

@G =0 B D

1-14

-4 4 2 X-axis
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» mEsE - ERWLGENES B

4

y-axis
o

-2
1-14
-4
—4 -2 0 2 4
X-axis
FL110 34 g B -
S=O DD

s pEsE - SRNLSEAEE G
115 W23k ie- E3 35 W3

%34 3 B (Handle Graphics) & i * H E# F
3~ AiEde s P HLA A 2 115 %I"/#ﬁf T ¥
P ARAL-33% 0] s A H s T B D
-k

>> x = —4:.1:4;

>> y = cos(x);

>> h = plot(x,y); 115
>> h1 = title('cos graph')

@G =0 B D




» mEsE - ERANLSEREE B=

>> get(h)
Color: [0 0 1]
EraseMode: 'normal'
LineStyle: '-'
LineWidth: 0.5000
Marker: 'none'
MarkerSize: 6
MarkerEdgeColor: 'auto' 1-15
.......................... [etc]

DG =0 DD

» mEsE - ERANLSEREE B=

>> get(hl)

FontName = Helvetica

FontSize = [10]

FontUnits = points
HorizontalAlignment = center

LineStyle = -

LineWidth = [0.5]

Margin = [2]

Position = [-0.00921659 1.03801 1.00011] 115
Rotation = [0]

String = cos graph

@G =0 DD




» mEsE - ERANLSEREE B=

% e3s121.m

% Example for Handle Graphics

x = -5:0.1:5;

subplot(1,3,1)

el = plot(x,sin(x)); title('sin x')

subplot(1,3,2)

e2 = plot(x,sin(2*round(x))); title('sin round x')
subplot(1,3,3)

e3 = plot(x,sin(sin(5*x))); title('sin sin 5x')

1-15

DG =0 DD

» BUBTSE — ERMATLABEETES (B=HR) _
. sin(x) ; sinround(x)) _ . sin(sin(5x))
08} 08} i E 0arﬂpﬂnnnﬁ
06} 06t 0.6 ]
0.4 04+ E 04}
0.2 0.2} 1 o2t
of 0 — 0
0.2 -0.2 -0.2
-0.4 0.4} -0.4
-06 06l 1 _osl 1-15
-08 -08 0.8 H U U L U h U U
-1 E s 15 é 5 15 E 5
RLLL 354 B3 M fam o -
R =0 B D




» mEsE - ERANLSEREE B=

Sip A AR - P hset At i iddeT

% e3s122.m

% Example for Handle Graphics

x = -5:0.1:5;

s1 = subplot(1,3,1);

el = plot(x,sin(x)); t1 = title('sin(x)');

82 = subplot(1,3,2);

e2 = plot(x,sin(2*round(x))); t2 = title('sin(round(x))');
s3 = subplot(1,3,3);

e3 = plot(x,sin(sin(5*x))); t3 = title('sin(sin(5x))');

% change dimensions of first subplot

1-15

DG =0 DD

» mEsE - ERANLSEREE B=

set(s1,'Position',[0.1 0.1 0.2 0.5]);
%change thickness of line of first graph
set(el, 'LineWidth',6)

set(sl,'XTick',[-5 -2 0 2 5I1)

%#Change all titles to italics

set(tl, 'FontAngle','italic'), set(tl,'FontWeight', 'bold')
set(tl, 'FontSize',16)

set(t2, 'FontAngle', 'italic')

set(t3, 'FontAngle', 'italic')

Jchange dimensions of last subplot
set(s3, 'Position',[0.7 0.1 0.2 0.5]);

1-15
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» mEsE - ERWLGENES B

» Position szt 3 T A hiE

[shift from left, shift from bottom, width, height]

set(s3, 'Position',[0.7 0.1 0.2 0.5]);

1-15

DG =0 DD

> mEsE - EEWLsERES G
1 smrolundx _
08F
0.6}
04+
1 i s;'::) x ozl | q sin slr'nsx
0.8}
06F 0 — ﬂ n
0.4
-0.2
0.2
0 0.4
0.2+ L 1-15
04t 0.8 1
-0.6 o8 UU
08 L]
=0 2 5 5 0 5 ; 0 5
B1.12 #“BL111° #r4 % E'TVJJ‘E#“ B2 e o lg O g o
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» mEsE - ERANLSEREE B=

S * gca it pheinfapl

>> x = =-1:0.1:2; h = plot(x,cos(2*x));

>> get(gca, 'FontWeight')

ans =

normal
1-15
>> set(gca, 'FontWeight', 'bold')
>> set(gca, 'FontSize',16)

>> set(gca, 'XTick',[-1 0 1 2])

DG =0 DD

» mEsE - ERANLSEREE B=

I 1 .
0.8 0.8

0.6 0.6

0.4 0.4

0.2 0.2

0 0
-0.2 -0.2
04 -0.4
-0.6 =0.6 1-15
-0.8 -0.8

-1 -1

-1 -1

B1.13 cos(2x) (@A 0 % £ F B E S EHFS B4 o
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VIR S =l

(a)2+x)2a cos(@; x)
30 1

Graph for ¢ = 2, w,=1, and @; =3
0F P 2 ! i

10

y-axis

1-15

=20 1
-5 0 5

X-axis
Bl1.14 (w2 +X)%acos(wix) 18] -

DG =0 DD

VIR S =l

% e3s104.m

% Example of the use of special graphics parameters in MATLAB
% illustrates the use of superscripts, subscripts,

% fontsize and special characters

x = -5:.3:5;

plot(x, (1+x)."2.%cos(3*x), ...
'linewidth',1, 'marker', 'hexagram', 'markersize',12)

title(' (\omega_2+x) "2\alpha cos(\omega_1x)','fontsize',14)
xlabel('x-axis'), ylabel('y-axis', 'rotation',0) 1-15
gtext ('graph for \alpha = 2,\omega_2 = 1, and \omega_l = 3')

QD TO B D




» mEsE - ERANLSEREE B=

K/
0’0

F# 5 A B F AR T\ kR ¥ T A
ST

» alpha & 1«
e betait 1 p
e gamma ¥ 4y

1-15
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A Q= B D

» mEsE - ERANLSEREE B=

& A

‘title('(\omega“2+x)‘2\a1pha*cos(\omega“1*x)','fontsize',ié)

(w2 + X)%a % COS(w] * X)

1-15
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PEEs—— . ,

> BB E — ERAMATLABEERES (8

Tz '4’421*&@%4\: "‘T A 2 B3 sj ”"’#]55%
set (0, 'defaultaxesfontsize',16)
set (0, 'defaultaxesfontname', 'Times New Roman')

set (0, 'defaulttextfontsize',12)
set (0, 'defaulttextfontname', 'Times New Roman')

axes('position',[0.30 0.30 0.50 0.50])

1-15

A Q= B D

& 5 100/145F

s BERE - EANTLEEAES s
Ry ¥ g~ i (Normal distribution, Gaussian distribution)
SHAEABGIPIDRIEIDES L0 RE&K: 02 (A H
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B - EANLSEES B
Y ¥ i~ MATLABAE

x=-5:0.01:5;

u=0;

d1=sqrt(0.2);
f1=(1/(d1*sqrt(2*pi)))*exp(-((x-u)."2)/(2*d1./2));
figure(1)

plot(x,f1,'r")

hold on

d2=sqrt(1);
f2=(1/(d2*sqrt(2*pi)))*exp(-((x-u).~2)/(2*d2.72));
plot(x,f2,'g")

d3=sqrt(5);
3=(1/(d3*sqrt(2*pi)))*exp(-((x-u).*2)/(2*d3.72)); 1-15
plot(x,f3,'b")

ul=-2;

d4=sqrt(0.5);
f4=(1/(d4*sqrt(2*pi)))*exp(-((x-ul).A2)/(2*d4.72));
plot(x,f4,'b")

hold off

QA =O DD

B - ERUTLEERES ESR
Rz B

% ax=-40.1:42y=-4014%F ¢ - @& * mesh ~ contour » surfig § - &

#ci o B B 3 2 2
z=(1-x*)e " —pe P —e
p=x’+y’ ;‘ g-;\

3
a 1-15
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» mEsE - ERWLGENES B

WYz AR

x=-4:0.1:4; y=-4:0.1:4,

[X,y]=meshgrid(x,y);

pP=X."2+y."2;
z=(1-x."2).*exp(-p)-p-*exp(-p)-exp(-(-x+1)."2-y."2);
subplot(3,1,1)

mesh(x,y,z)

xlabel('x"), ylabel('y"), zlabel('z"), title('mesh’)
subplot(3,1,2)

surf(x,y,z)

xlabel('x"), ylabel('y"), zlabel('z"), title('surf") 1-15
subplot(3,1,3)

contour(x,y,z,50)

xlabel('x"), ylabel('y"), zlabel('z"), title('contour’)

QA =O DD

- B ERNITLGEAEE B
116 EMATLAB P 3% 8 423

eAEf L tedit (%HIE) RTPMHB 3 LA
command A% ¢ %¥E - command 4}%?{: T
=X - l[ﬁ::}ﬁ = ]'—y P\ mﬁ’i,@;alﬂ

WRE W 2ZmERe FRARLE ¥V by -

5 B 7]?]3_ Lz HH @tmll”l{f%’*—%o
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- BEP % — RN BE (B

* pi Ekr
e inf “,ﬁ% IRNVESR-R= k- 2
* eps R OEAPE s B R
e realmax & = I ;yEh#c
e realmin &) I j¥2:#c
* NaN " Not-a—Number ; - & % LR
A2 zbicp B 1-16
at AH% VT

(EETTT,. G =0 DD

- BEP % — RN BE (B

>

* AMATLAB 234 p o ik cndy £.4] 5 5

variable = <expression>;

S A &F
o * ;}R %fu

° / K/Z]:f %’fp

e 4+ 4y %ﬁ,

. . }‘g\‘ %& 1-16

VOO b




e - ERWLGENES B

% e3s106.m

% Matrix calculations for two matrices A and B
A=1[123;456;78 9];

B [6 -6 -9;1 1 0;24 1 0];

% Addition. Result assigned to C

C = A+B; disp(C)

% Multiplication. Result assigned to D

D = A*B; disp(D)

% Division. Result assigned to E

E = A\B; disp(E)

*2*:3;\”1%*6 TR 4t > for @ BV i

for <loop_variable> = <loop_expression>

1-16

<statements>
end

QA =O DD

T ———
for i M)

SRR EAANFF LA

for <loop_variable> = <loop_expression>
<statements>
end

% b4
fori=1:4
d(i) =i"3;
end

1-16

v #@d=182764
VOO b




» mEsE - ERANLSEREE B=

p=1;
prime_numbs = [2 13 5 11 7 3];
for a = prime_numbs

p = p*a;
end
P
1-16
V=0 DD

TR ——— |
:’:ﬁ‘? . fOI‘ 3& E]

A4 - BOX6UELNh B¢ L0 i 5] AR

1-16
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s BEsE - eRNLEERES Esn G
o for i
h=zeros(6);
for i=1:6
for j=1:6
h(i,j)=1/(i+j-1);
end

end
disp(h) =1t

G =0 B D

TR ——— |
:’:ﬁ‘? . fOI‘ 3& E]

s 45 dinl > 10100 5 # * break

1-16
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:’:ﬁ‘? . fOI‘ 3& E]
for i=1:1000
if prod(1:1)>1e100
fprintf('%g!=%e>1e100\n',i,prod(1:i));

break;
end
end
1-16
V=0 DD

» mEsE - ERWLGENES B

whiles% ]
S5 REFLUHEE S R TR LAY

while <while_expression>

<statements>
end
1-16
Q=0 B D

» mEsE - ERWLGENES B
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» mEsE - ERWLGENES B

< <while_expression> ¥ - B 44 7 % » A8 5
81062’ﬁv‘ elfreZ{—ﬁ;ﬁjf‘%;h,o{

e == j;%*

e <= ,J\%’:\E\““ e

e > = L 3NAF

e ~= 7} X 1-16

QA =O DD

» mEsE - ERWLGENES B

© | SwenER <

e ~ Z(not)iF X

° && ,éiﬁ{é‘_ﬂfr(and) FE A (F%- B sig
B % - B2 36 )

i R G (£%- ®ige s g p EE
:@:'A’I‘lp)

VOO b




» mEsE - ERANLSEREE B=

< while & B] e+

dif = 1;

x2 = 1;

while dif>0.0005
x1 = x2-cos(x2)/(1+x2);
dif = abs(x2-x1);

x2 = x1;
end
x = [123]; 116
y = [4 5 8];
while sum(x) ~= max(y)
x = x.72;
y =y

end
XG0 B D

> BB - EANLBELES HEoR
Y whilei [

< & % whiledg £ 35 M1 ] gniE > # {Fnl > 10100

1-16
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s BESE - EEMLGERES Eoh
Y whileix [
n=1;
while prod(1:n)<1e100
n=n+1;
end
fprintf('%g!=%e>1e100\n’,n,prod(1:n));

1-16

G =0 B D

T ———,
If it
AP gy £ AP 0 5 R AT A

if < if_expressionl>
<statements>

elseif < if_expression2>
<statements>

elseif < if_expression3>
<statements>

1-16

else
<statements>

end
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> BB E — ERAMATLABEERES (8

PR/

"f%uLEm?udéé-ﬁ :

for k =

1:n
for p = 1:m
if k ==p

z(k,p) =1
total =

elseif k<p
z(k,p) = -
total =

else

z(k,p) = 0;

total+z(k,p);

total+z(k,p);

end
end
end

if (x7=0) & (x<y)

= sqrt(y-x)/x;
disp(b)

1-16
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> BB E — ERAMATLABEERES (8

Y ifsat

T et L e
S ByhaiE B L

i PEA B KT
&
“y=[03416];

1-16
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Y ifkkat

y=[0 34 1 6];
for i=1:length(y)
if rem(y(i),2)==0
fprintf('y(%9)=%g is even.\n',i,y(i));
else
fprintf('y(%g)=%g is odd.\n',i,y(i));
end
end

1-16

VIR S =l

TVGTO DD

VIR S =l

oyt forie [ 4e ifdcit

¢ drnip ~F e £ X0 B - BmatlabAz st &k F R
'+ Y
fﬁ ”

pk =x1x2--- xk_]_xk_|_]_ ...xn

H ¥ n=6, X,=1, X,=2,...,X,=6, k=1,2,...,n
Vector of data
x = 1-16
1 2 3 4 5 [
Vector of products p_k

D=

_ 720 360 240 180D 144 120 m G m D D
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e
B forae B

clear all
close all
n=f;
disp( 'Vector of data')
x=1ln
[l far j = l:nl
piiy =1
[z for 1 = 1l:n
if i~=j
pij) = pliy*=(i);
end 1-16

o end

~end
disp{ 'Vector of products p k')

n
G =0 B D

» mEsE - ERANLSEREE B=

switch &t

T - fEf g Bl ng RS EAY RAPGR
B

switch <condition>
case
statements
case ref2
statements
case ref3
statements 1-16
otherwise
statements
end
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» mEsE - ERANLSEREE B=

x=1:.01:10; n = 2
switch n
case 1
plot(x,log(x));
case 2
plot(x,x.*log(x));
case 3
plot(x,x./(1+log(x)));
otherwise
disp('That was an invalid selection.') Al
end

G =0 B D

» mEsE - ERANLSEREE B=

X = 2;
units = 'LY'
switch units
case {'AU' 'Astronomical Units'}
km = 14959787 1*x
case {'LY','lightyear'}
km = 149597871%63241%x
case {'pc' 'parsec'}
km = 149597871%63241%3.26156%x
otherwise 1-16
disp('That was an invalid selection.')

end

@G =0 B D




» mEsE - ERANLSEREE B=

N

¥
7~

fmenu St - BE ZREEIRT K
® v i EER
frequency = 123;
units = menu('Select units for output data', 'rad/s','Hz', 'rev/min')
switch units
case 1
disp(frequency)
case 2
disp(frequency/(2+*pi))
case 3
disp(frequency*60/(2+pi))

1-16

end

G =0 B D

» BUETSE — ERVATLABEEINEE S (B=HR) _
117 MATLAB ¥ thig * % f 37 ik

o ?ﬁ - B §}|§¥:343 ;V %z'|11 #é;diljﬁi R ﬁgégﬁxﬁt”_r

function <output_params> = func_name(<input_params>)
<func body>

% 5 st w150 S

‘<specific_out_params> = <func_name>(<assigned_input_params>)‘

1-17
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Fork-m g ARG e B om LRk ehiE o 7
B 7 72 & MATLAB &#kc sawblade 47 » i1
AR NN L R 1.17

mﬂ

G =0 B D

T ————
f‘? 1.1

function y = sawblade(t,T,n_trms)
% Evaluates, at instant t, the Fourier approximation of a sawtooth wave of

% period T using the first n_trms terms in the infinte series.
vy = 1/2;
for n = 1:n_trms

y =y - (1/(n*pi))*sin(2*n*pi*t/T);

end

c = 1;
for t = 0:0.01:4, y(c) = sawblade(t,2,50); ¢ = c+1; end
plot([0:0.01:4],y)

1-17
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s mEsE - ERNTLGEREE BN
f‘? 1.1

"ﬁ i/{ﬁ’hﬁ-rﬁ;ﬁ“i e f—/a.

y = sawblade(0.2%period,period,terns)

H ¢ period frterms 3 LA dg T ehid > B
y = sawblade(2,5.7,60)

& F @ * e feval

y = feval('sawblade',2,5.7,60)

1-17

QA =O DD

s pEnE - EETLCEREE G
i 1.2
SR BEIFDEEN e 7 A2 EBLGOS gt f@’i’r
A f#miéﬁf/ O A
E_‘;ﬂ‘\;}%,{f’"{ » H_ILEEE j;\
}'}‘f‘_—nF r’};}i‘?]"}o-"" 1

Fo it >R ex %{&}é"uﬁ_on" fT* 43t Jkl*‘“'*v]:#_m
R L ik Tt 3 Py
G A s LB A He Ao e
BRI EL > EAeiE BIo A 0 A W[4 AE

d T 5

VOO b




- BEP % — RN BE (B

i 1.2
GI|1 -1
K“L[d 1}
M:@[z 1}
6 |1 2

%o

wdHe LIwheani R Girp A# Ié‘_’FT’f d
EphenE JT o F AP AMATLAB 2 2 5 U2
FHE OHEPF jREEAFORFEEEL .

T A e B dhengE g 4 sk e
Q@m0 DD

- BEP % — RN BE (B

f’ 1.2
function [K,M] = tors_el(L,d,rho,G)
J = pi*d~4/32;
K = (G+xJ/L)*[1 ~-1;-1 11;
M = (rho*J*L/6)*[2 1;1 2];
iR E IR Ly 11;@] » B d :];@?] L 3 S
1-17
@G =0 DD
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- BEP % — RN BE (B

E TR E FIEE S

(5{4)3 — "-2-{C~ + cos (H)
MATLAB %_# ¢ #iche ™

>> f = @(x) (x/2.4).73-2xx/2.4+cos(pix*x/2.4);

>> solution = fzero(f,2.9)
solution = 1-17
3.4825

G =0 B D

- BEP % — RN BE (B

= 0:0.1:5; plot(x,f(x))

‘>> solution = fzero(@(x) (x/2.4).73-2*x/2.4+cos(pi*x/2.4), 2.9)

SR ET R M SR LF LS -
lﬂxﬁLﬁi o

function y = sp_cubic(x)
y = X."3-2%x.72-6;

1-17
function [minimum maximum] = minandmax(f,v)

% v is a vector with the start, increment and end value
y = feval(f,v); minimum = min(y); maximum = max(y);

VOO b




» mEsE - ERANLSEREE B=

< @ * minandmax z_x% {a‘ﬁ fv 3% &odcs

M A S0 i

>> [lo hi] = minandmax(f,[-5:0.1:5]);
>> fprintf('lo = %8.4f hi = %8.4f\n',lo0,hi)

lo = -181.0000 hi = 69.0000

RS

DT ﬁll%:ﬁ”;ﬂ s I]j;?\:

>> [lo hi] = minandmax('sp_cubic',[-5:0.1:5]); 117
>> fprintf('lo = ¥8.4f hi = %8.4f\n',lo,hi)
lo = -181.0000 hi = 69.0000

L e <R < Fromo # > 4> 4

& 5140/145F

function [minimum maximum] = minandmax(f,v)

y = £(v); minimum = min(y); maximum = max(y);

% v is a vector with the start, increment and end value

frfug DI s R

% f 5 m #5338 sp_cubic - & # minandmax

>> [lo hi] = minandmax('sp_cubic',[-5:0.1:5]);
>> fprintf('lo = %8.4f hi = %8.4f\n',lo,hi)

Error in ==> minandmax at 4
y = f(v);

777 Subscript indices must either be real positive integers or logicals.

VOO b

» mEsE - ERANLSEREE B=

1-17




» mEsE - ERWLGENES B
1.18 MATLAB 2 :ﬁtﬁi%ﬁ.
S H AL TR LY 4 4858 { ok
>> A = cell(4,1);
>> A = {'maths'; 'physics'; 'history'; 'IT'}
A =
'maths’
'physics'
'history'
fITI
1-18
TA=0O DD

» mEsE - ERANLSEREE B=

>> p = A(2)

pm
'physics’

>> A(3:4)

ans =

'history'
IITl

>> cont = A{3}

1-18
cont =

history

& 5 143/1457

<4 ==d B




» mEsE - ERWLGENES B

>> cont (4)

ans =
t

ooﬁml‘_{_;l gﬁﬁ; ﬂigﬁ'{%’kfﬂ;‘# g o ﬁ’rﬁ'{
cell 24 -

>> F = cell(2,2)

F= 1-18
[1] [] -
[1] []
S=O DD

» mEsE - ERWLGENES B

N#F‘ T- BHE LN FE ﬁ—_%f;u?%éi

>> F{1,1} = 2;
>> F{1,2} = 'test’;
>> F{2,1} = ones(3);
>> F
F=
L 2] "test'
[3x3 double] []
STV - A4 Fz2 X332 H 1-18
>> F = {[2] 'test'; [ones(3)] [ 1}

@G =0 B D
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> BIES% — BRAMNTLABERES (B
s ¢ * celldisp

>> celldisp(F)

F{1,1} =
2

F{2,1} =

[

F{1,2} =
test

[

‘ ¥ 146/145F

PEEs—— . ,

1-18

A Q= B D

> BUBETSE — ERAMATLABIETES (5

e

PAXFT = BEA 2 TR AHE A5 D names - fees
% subjects ¥ 1% 5 F L ER 4 o
>> names = {'A Best', 'D Good', 'S Green 'J Jones'}
names =
"A Best' 'D Good' 'S Green' 'J Jones'
>> fees = {333 450 200 800}
fees =
[333]  [450]  [200]  [800] LS
@ Q=0 DD




» mEsE - ERANLSEREE B=

>> subjects = {'cs','cs', 'maths','eng'}

subjects =

cs cs' 'maths' 'eng
>> StudentRecords = struct('NameField',names,'FeesField',fees,...
'SubjectField',subjects)

StudentRecords =

1x4 struct array with fields:
NameField
FeesField
SubjectField 1-18

DG =0 DD

» mEsE - ERNLGEREE B=h

>> StudentRecords(1)

Il

ans

NameField: 'A Best'
FeesField: 333
SubjectField: 'cs'

>> StudentRecords (1) .NameField

ans =
A Best

>> StudentRecords(2).SubjectField
1-18

ans =

CcS
@G =0 B D




» mEsE - ERWLGENES B

o ;Erﬁ‘y"—? Vs % E\‘ /,9]‘ 4r ﬁ’»%%g‘:ﬁ&r—r

>> StudentRecords(3) .FeeField = 1000;

>> StudentRecords(3) .FeeField

ans =

1000

1-18

G =0 B D

» mEsE - ERWLGENES B

< MATLAB # - & 5 ﬁiti nrﬂ rdcly Sl B
ﬁ;}ﬁ' s 1) TF ]lJ ?' ¢
cell2struct

struct2cell
num2cell

7‘._.

-rx\¢

str2num
num2str
int2str
double
single 1-18

@G =0 B D
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T e
1.19 %% MATLAB :}g A 4:8
¥ 11 ¢ * checkcode k35 )45 :%

% e3s125.m A script full of errors!!!
A=1[123; 4586

B=1[223; 76 5]

c(1) =1; c(1) = 2;

for k = 3:9
c(k) = c(k-1)+c(k-2)
if k=23
displ('k = 3, working well)
end
c 1=19

G =0 B D

» mEsE - ERANLSEREE B=

>> e3s125

Error: File: e3s125.m Line: 3 Column: 3

The expression to the left of the equals sign is not a valid target
for an assignment.

s i# * checkcode * ¥ ﬁ#;, £ 1% e3s125

>> checkcode e3s8125
(C 3): Invalid syntax at '='. Possibly, a ), }, or ] is missing.
(C 16): Parse error at ']': usage might be invalid MATLAB syntax.

3

3

5 (C 1-3): Invalid use of a reserved word.

7 (C 5-6): IF might not be aligned with its matching END (line 9).

7 (C 10): Parse error at '=': usage might be invalid MATLAB syntax.

8 (C 15-35): A quoted string is unterminated.

11 (C 0): Program might end prematurely (or an earlier error 1-19
confused Code Analyzer).

@G =0 B D
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» mEsE - ERANLSEREE B=

% e3s125c.m A script less full of errors!!!
A=1[123; 45 6];
B =[23; 7 6];
c(1) = 1; c(1) = 2;
for k = 3:9
c(k) = c(k-1)+c(k-2)
if k ==
disp('k = 3, working well')
end
end
c

1=19

DG =0 DD

» mEsE - ERANLSEREE B=

S g 4 A

>> e3s125c
Attempted to access c(2); index out of bounds because numel(c)=1.

Error in e3s125c (line 8)
c(k) = c(k=1)+c(k-2)

>> checkcode e3s125¢
L 6 (C 5): The variable 'c' appears to change size on every loop
iteration (within a script). Consider preallocating for speed.
L 6 (C 10): Terminate statement with semicolon to suppress output
(within a script).
L 11 (C 1): Terminate statement with semicolon to suppress ocutput
(within a script). | g

@G =0 B D




> BiEsE - BRI AEREE Eon
1.20 MATLAB ¢ — # 7 B & chifinfd

. %%‘frﬁ:ﬂﬁ:ﬁjﬁv ?fﬁ‘_/] 3o
« 7 ¥ i * MATLAB inddic & & 45 £ § 1+ 2%
e LA o

1-20

G =0 B D

» mEsE - ERANLSEREE B=

>>» sin = 4

sin =

4
>> 3#sin

ans =
12

>> sin(1)

ans =
4

>> sin(2)
777 Index exceeds matrix dimensions.

>> sin(1.1)

7?7 Subscript indices must either be real positive integers or logicals. 1-20

@G =0 B D
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» mEsE - ERWLGENES B

for i = 1

b(i) = i*i;
end
A=1[45;,6T],
A*b'

o« LLBA -

o A ARl Fm'flr')rwp f” ’ﬁ REE R TEL 27
K S

1-20

G =0 B D

> BB - EANLBELES HEoR
121 #MATLAB i@ 4 b3 5 i B

# 71.3
ot foreBXkE »be a3

% e3s108.m
% Fill b with square roots of 1 to 100000 using a for loop
tic;
for i = 1:100000
b(i) = sqrt(i);

end

t = toc;
disp(['Time taken for loop method is ', num2str(t)]);
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» mEsE - ERWLGENES B

;-l;/

PR EEELXE A bw B

% e3s109.m
% Fill b with square roots of 1 to 100000 using a vector

tic

a = 1:100000; b = sqrt(a);

t = toc;

disp(['Time taken for vector method is ',num2str(t)]);

G =0 B D




